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1. Read the text carefully and answer the questions: 
1. People, generally are emotionally attached to their place of birth. But millions of 
people leave their places of birth and residence. There could be variety of reasons. 
These reasons can be put into two broad categories : (i) push factor, these cause 
people to leave their place of residence or origin; and (ii) pull factors, which attract the 
people from different places. In India people migrate from rural to urban areas mainly 
due to poverty, high population pressure on the land, lack of basic infrastructural 
facilities like health care, education, etc. Apart from these factors, natural disasters 
such as, flood, drought, cyclonic storms, earthquake, tsunami, wars and local conflicts 
also give extra push to migrate. On the other hand, there are pull factors which attract 
people from rural areas to cities. The most important pull factor for majority of the 
rural migrants to urban areas is the better opportunities, availability of regular work 
and relatively higher wages. Better opportunities for education, better health facilities 
and sources of entertainment, etc., are also quite important pull factors. 
2. Examine the reasons for migration for males and females separately in the figure 
below. 

 
On the basis of the figures, it can be seen that the reasons for the migration of males 
and females are different. For example, work and employment have remained the 
main cause for male migration (26 percent) while it is only 2.3 percent for the females. 
Contrary to this, about 67 percent of females move out from their parental houses 
following their marriage. This is the most important cause in the rural areas of India 
except in Meghalaya where the reverse is the case. This is because Meghalaya is 
a female-dominated state. The Khasi and Jaintia tribes do not follow the patriarchal 
system of society but they follow the matrilineal system of society. In comparison to 
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these marriage migrations of the male, is only 4 percent in the country. 
3. Migration is a response to the uneven distribution of opportunities over space. 
People tend to move from place of low opportunity and low safety to the place of 
higher opportunity and better safety. This, in turn, creates both benefits and problems 
for the areas, people migrate from and migrate to. Consequences can be observed in 
economic, social, cultural, political and demographic terms. 

i. Infer one reason for the following, based on information in paragraph 1. 
People in India mainly move from rural to urban areas. 

ii. Select the appropriate option to fill in the blanks. 
In Paragraph 2, we can infer that male migration is still primarily driven by 
_________,  whereas after __________, females leave their parent's homes. 
(1) employment (2) business,  (3) education (4) marriage 

a. 1 and 4 
b. 2 and 3 
c. 4 and 1 
d. 1 and 3 

iii. Complete the following analogy correctly with a word/ phrase from 
paragraph 1: 
Pull factor: Better wages :: Push factor: _________ 
(Clue: Just like better wages is the pull factor of migration, similarly 
__________ is the push factor of migration) 

a. Better opportunities 
b. Natural disaster 
c. Regular work 
d. Higher education 

iv. Select the correct option to complete the following sentence: 
People frequently relocate ______________________, 

a. from developed and better safety areas to less developed and low 
safety areas. 

b. from greater opportunity and better safety areas to poor opportunity 
and low safety areas. 

c. from sophisticated and greater opportunity areas to less advanced 
and lower opportunity areas. 

d. from poor opportunity and low safety areas to greater opportunity and 
better safety areas. 

v. Based on the passage, choose the option that correctly demonstrates the 
reasons for male migration: 

 
a. Image 1 
b. Image 3 
c. Image 4 
d. Image 2 



vi. Fill in the blank by selecting the correct option. 
The _____________ across space causes migration. 

a. equal distribution of opportunities 
b. uneven distribution of payment 
c. unequal distribution of opportunities 
d. even  distribution of land 

vii. Substitute the word ‘important’ with ONE WORD similar in meaning, in the 
following, sentence from paragraph 1: 
Better opportunities for education, better health facilities and sources of 
entertainment, etc., are also quite important pull factors. 

viii. Mention the two main categories of causes of migration. 
ix. Why does Meghalaya have a low female marriage migration rate? Give two 

reasons. 
x. Select the option that titles paragraphs 1-3 appropriately, with reference to 

information in the text. 
A. 

a. Causes of Migration 
b. Crunching numbers 
c. Consequences of Migration 

B.  

d. Streams of Migration 
e. Spatial Variation in Migration 
f. Demographic consequences of migration 

C. 

g. Migration- A serious cause 
h. Why people migrate? 
i. Results of Migration 

D. 

j. Migration and its impact 
k. Uneven distribution of Migration 
l. Migration: Good or Bad 

2. Read the text carefully and answer the questions: 
i. Research from the Publishers Association has shown that films based on books 

take 44 % more at the box office revenue in the UK and 53 % more worldwide 
than original screenplays. The report explores what impact a book as when 
adopted for film and TV. 

ii. The report reads: "Published material is the basis of 52 % of top UK films in the 
last 10 years, and accounts for an even higher share of revenue from these 
leading performers, at 61 % of UK box office gross and 65 % of worldwide 
gross." The Hollywood adaptation of "My Cousin Rachel" was shown to have a 
significant impact on the sales of the Daphne Du Maurier thriller. The sales of 
the book in 2017 alone accounted for 23 % of all sales since 1992. 

iii. The research suggests that adapted films tend to perform better, because films 
can "leverage the popularity" of well-known books through an existing audience. 
Films adapted from books also tend to have a richer, more fully-developed story 



to draw on. 
In terms of TV adaptation, it was revealed that a quarter of dramas were based 
on literary sources and attracted a 56 % larger share of the audience than those 
based on original scripts. Fourteen of the 35 high end series produced in the UK 
in the period between January and September 2017 were based on books, 
compared to seven based on true stories or historical events and five based on 
pre-existing films or TV stories. 

iv. In the case of the 2016 BBC broadcast of "The Night Manager", research 
revealed that while the novel was in circulation for over 25 years, 82 % of the 
copies it sold were in 2016 and 2017. Sales of the paperback edition remained 
strong in 2017 even after the series went off the air. 

v. In conclusion, the report states that "there is a strong two-way relationship 
between publishing and the wider creative economy. wherein a successful 
adaptation often has spill-over effects and gives a substantial boost to the sales 
of the original book." (338 words) 
(Source: https://wwwthebookseller com/ news ffilms-based-books-take-more-
91mmore-globally-originalscripts-825036) 

vi. According to the research, the films based on books have greater success 
because 

a. people like to see the characters from the books on screen 
b. the films get the advantage of the fame of the books 
c. it takes less effort for people to watch films than read books 
d. the films get a ready-made script from the books 

vii. The purpose of the researchers by Publishers Association was to study the 
________. 

viii. Why, according to the research, the films based on books have greater 
success? 

ix. Select the correct option to complete the given sentence. 
In the year 2017, the maximum serials in UK were based on ________ 

a. books 
b. film stars 
c. writers 
d. public 

x. Select the option listing what the given sentence refers to: 
'Films adapted from books also tend to have a richer, more fully-developed 
story to draw on.' 

a. The plot and the storyline of such films are better. 
b. The characters are likely to be more vivid. 
c. The production of such films is meant for the rich and famous. 
d. The settings and costumes are adapted from the book. 
e. The making of such films require the author to write a sequel. 
f. (1), (3) and (4) 
g. (2), (3) and (5) 
h. (1), (2) and (5) 
i. (1), (2) and (4) 

xi. There is a strong two-way relationship between films and the wider creative 
economy. (True/false). 

xii. Films adapted from books have a ________ content. 



xiii. This passage lists an example proving that TV dramas based on literary 
works have 
Select the correct option. 

a. increased the immediate sales of the book 
b. increased the sales of the book during the first screening 
c. had no immediate impact on the sales of the book 
d. had very little impact on the sales of the book 

xiv. Complete the given analogy correctly with a word from the passage: 
Suggests : recommends :: ________ : important 

xv. Films can leverage the popularity of well known books. State the meaning of 
the underlined word. 
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Solution 

1.  
i. In India people migrate from rural to urban areas mainly due to poverty, high 

population pressure on the land, and lack of basic infrastructural facilities like 
health care, education, etc. 

ii. a. 1 and 4 
iii. b. Natural disaster 
iv. d.  from poor opportunity and low safety areas to greater opportunity and better 

safety areas. 
v. c. Image 4 
vi. c. unequal distribution of opportunities 
vii. vital/crucial/significant 
viii.  

1. Push factors 
2. Pull factors 

ix.  
1. Meghalaya is a female-dominated state. 
2. The Khasi and Jaintia tribes do not follow the patriarchal system of 

society but they follow the matrilineal system of society.  
x. A. 

2.  
i. (b) the films get advantage of the fame of books. 

Explanation: The passage tells that the research suggests that adapted 
films tend to perform better, because films can "leverage the popularity" of 
well-known books through an existing audience. Hence, (b) is the right 
answer. 

ii. connection between books and films 
iii. According to the research, the films based on books have greater success 

because they get the advantage of the fame of the books. 
iv. (a) books 
v. (d) (1), (2) and (4) 

Explanation: It is clear that the production of such films is not (3) meant for 
the rich and famous. It also not (5) require the author to write a sequel. 



However. (1) The plot and the storyline of such films are better (2) The 
characters are likely to be more vivid and (4) The settings and costumes are 
adapted from the book. Hence, (d) is the right answer. 

vi. False 
Explanation: It is given in the passage that there is a two-way connection 
between wider creative economy and publishing, not films. 

vii. rich 
viii. (a) increased the immediate sales of the book 

Explanation: It is stated in the passage that in terms of TV adaptation, it was 
revealed that a quarter of dramas were based on literary sources and 
attracted a 56 % larger share of the audience than those based on original 
scripts. Hence, (a) is the right answer. 

ix. Significant 
x. Increase 

 


